41150

909 & oA BEEAY FER AR %Y FFAE [RE /R Enlall )
B o 41250
£ WoLow F R
e~ AR
T BT A TV P SUY
TEERF 130 A 5L
AR OF MR TIFEE
()3 L)AL (TF PRMFAATE SR RROEA B A E L o AL P > 2 AP o
— ~AoRT 2455 95 B 24E > EI =3,000 thm’ o 3R RE Y bRk £E =B E o (254)
12 tf 6if
a v v d
> b C %‘
le ole ble >
" T T ol
2m 2m 2m
S el R B L5860 AR o BB LR FER . (254)
40 1f
B & D
A C{
b2
10 m B
T omA £
T —
10 m 10 m
= ‘J-jf#/"b(f{"’ Y 1 FF e P IR st 2 53))2\:‘%’?? (25 %)
BN G- FSETR RATE o Mg AeRl o 0 BARS0Cm o SRR TS5 eme BRK s EE T pE
o ¥R a6 £ We=4,000 kgf/mfe & ¢ 4 F 3¢ £ P =8,000 kgf - F % 74 sa%h

* D10 4% 5% > EREZ AL KRG T E T4 SFEELSRP? (254 )
P

L 50cm,
y W, . 10cm[  [110cm
Y YYY Y Y YV YYYYYYYYYY em_{ | 4-D25
/]
2 175 cm D10— 75cm
fA R 10cm§ v 2-D19
% 400cm i

Wi
ol
2 vl
Sk

: 5 B f.'=280 kgf/cm » ¥ = £ w.=2,400 kgf/m okl < 2 < 19 mm o
11 4% $5D10 : 2 /2d,=9.53mm > & F#A,=0.713 cm » 55 A& £,=2,800 kgffem® -
4 5D19 © B j=dy=19.1mm » & #A,=2.865 cm” » 3% A& f,=4,200 kgffcm® -
4 $5D25 1  j2dy,=25.4mm > & F#A,=5.067 cm” » 55 & f,=4,200 kgffcm® -
G 55 REA 2 b T R P EEISRIR T AR ] 2 R o

¥ 3
By &
W».I%N .o
-‘t | 4=



